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L6 (HSSELD.

Sifleyenyaen : (1)

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
Use Blue or Black ink to write and underline and pencil to draw diagrams.

Instructions : (1)

(2)

L@ - i /SECTION - A

GOl : () Sewensg elamsaEpéEn dlowalsseayLb. 30x1=30

) OGarGEsiuL Breng edmLseid Wsabd ghyemiw elamulmens
Combes05s GO HLear oL wtimanb Csisg erps)s.

Note : (i) Answer all the questions.

() Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.
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BOBTLY wHEDL Uss proyseenis) wEsaeT Hp (PLEET gmemr1L B D
STEUILD :

(1) Qameomeid sTHEGsrETILILD  (2b) Qareorend @em@sslenT

(@) Qui@aflwr eapdflr (F) L @rm Qi

In which of the following plants the midrib and veins are found with yeﬂowish spines ?

(a) Solanum xanthocarpum ~ (b) Solanum melongena

(c) Petunia hybrida EUS (d) Datura metal

gdar @LLb W m M W ennds UL '@CS_L_rerrrsmrrva. gL i 8
- HanssSng. |

(1) s&aT eramGlamTi] (<) apmiGLomen

(@) smiGureap G (F) 2l erdf@ummeT

Pseudomonas putida is an engineered bacterium that can digest :

(a) crude oil slick (b) hormone

(c) carbohydrate (d) antibiotic

‘Caesiyen’ srammerpsaiLBD SHG GODUSDSE FTTHS RUTaT( samerd gy

(1) Qumyree Qaor@udesur (<) @uatur SemraLd

(@) 19 mHSEV S|LOTTEV (rF) orQLridley sredlutrerT

is an animal crucifer weed called “thale cress”.
(a) Borassus flabellifer (b) Ophioglossum
(c) Phyllanthus amarus ' S (d) Arabidopsis thaliana

Sro@peflurearg) gaflLoarTS @Qjé;a;LS oI BGIETET STEUPLD :
(<=4) er&dHaTmLien

(<)) Bopsempdod .
(/) eomeflum -

(@) wmedlwm
The head infloresence is reduced to single flowerin:
(a) Chrysanfhémum (b) Echinops

(c) Dahlia (d) Launaea



(=) ured rECHen SHenardsmed (<) urell ergdelen Hanersamed

(&) ureburfis reGaen (/) uredl elenened GGerrany(®
The two protoplasts are fused with a fusogen called :

(@)  polyethane glycol (b)  polyethylene glycol

(c)  phosphoric ethane (d) polyvinyl chloride

Do o crer seersener B&ALL Lweru(heug)

(1) GA (=4)2, 4D () Awmgaer () IAA
The chemical used in the field to eradicate weeds is :
@ GA (b) 2,4D (c) Zeatin d) 1AA

Lmewtluf e ENLEWBHEES; :
(<=1) =55Csma
(9) QuAerssder

The inner most layer of the cortex is -

(<) Up5Csed
(7))  evantiCurQL bl

(@) endodermis (b)  epidermis

(c) pericycle (d) hypodermis

CPQ@owuLrs RsAnCamppwe b XM CPO&EF) GEp&EGaTad ol m s,

Elenl g

(<=1) 35 ATP (<b) 38 ATP (@) 2 ATP () 36 ATP
Complete oxidation of one molecule of glucose yields :

(@) 35ATP (b) 38 ATP (c) 2ATP (d) 36 ATP
LEamswsher o HLSHéEEs Coerauiu@d wédwr Qummer -

C)e (=) Mg (&) Mn () Fe
The essential component for the formation of chlorophyll :

@ a (b) Mg (© Mn (d) Fe
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TRALLTEISE ETEVGORITLGD Fraursdlen seil :

(=) Qu&iom (=) LepLl

(@) G5 SiopQaiy. saf (7)) Werajsaaf
In Abelmoschus esculentus, the fruit is :

(a) regma (b) drupe

(c) loculicidal capsule (d) schizocarp

@irdureie Bmse gGsrswGar MIC o pUGE 1980 - e’%ﬁ@@
Fleudsliul L gl @HSmps swurMssiILED eramiu@b edflweparer
L E8EQETOM HIHNGED SHsnren L&l Eemar QardgIb Ser LLSSS-
(=) ured ergdaflan Havargsmed () er&Cam LTéEle

() bsrTSHED (/) Qeflen

The manufacture of methyl isocynate (MIC) was started in India in 1980 to make

_ a powerful pesticide that can kill 100 types of Insects.
(a) Polyethylene glycol (b) Exotoxin
(c) Anthrax (d) Serin

g1g RNA -ellgyerer R sellGure (b auflengpenmen Lmed QuLlienL g &
<0G oo aflens PaPWTS rHOUILED HESHEs

(<=1) Qumurésd () LIgLIT&ESLD

(@) SIf&sLHD &GS () o7y sFaGsgD

The nucleotide sequence of mRNA into the amino acid sequence of polypeptide is called

(a) Translation (b) Transcription
(c) Nonsense codon (d) Genetic code

all&Gaémaal Ales SpbuLs gramdL el Sime

(<21) 400 nm - 700 nm (<) 100 nm - 200 nm
(@) 700 nm - 900 nm (r¥) 200 nm - 300 nm
The most effective wavelength of light for photosynthesis is :

(a) 400 nm - 700 nm (b) 100 nm - 200 nm
(c) 700 nm - 900 nm (d) 200 nm - 300 nm
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GOILUED FreursHie aOHSESSME :

(@) GRlwsTh (<) Camglanio

(@) WEETFCFTETLD (FF) Lamsudenasd Sreurid
Which of the following is a short day plant ?

(@)  Sunflower (b) Wheat

(€) Maize (d) Tobacco

areny, seeurenlp L graurmseaiar Qamasasrble HLesdr allg.eu

uryerensor Qedsdr sramliu@atmer. el ____ LIy 6T 6N & LD
eremiiuHElemmer.
(1) gramensiom (<) v@LOCeL urperansLom
(@) Cerrrenansom () yGrreanmengiom
The type of tissue present in the petioles of banana and canna, is :
(a) Aerenchyma (b) Stellate parenchyma
(¢) Chlorenchyma (d) Prosenchyma
1920 -9p1d Sy @r®, urruUme erarueum @@ Ged urflurer 2
paflFCaTEmns FOUBSILULL 1646EE LWLl &siqw [urmSs Lo
2 uiflwrs iMlepsd QeugT.
(=) @Cearmr@redevm (<) everuCrrensym
(@) yenasulene () oGardem
In 1920 Warburg introduced the unicellular green algae __ , as a suitable
material to study photosynthesis.
(a) Chlorella (b) Spirogyra
(c) Tobacco (d) Azolla

@ &5TUTSSD 5 ETHSSE sser Bemorsald, 5 ETHSE SOI9GET G L IITEea|LD
2 _GTaTET.

(1) fevar GLrflwr QLiGearadiwimr

(<) pevdGammbled pavidym

(@) Gevmielum enlssL9eem

() @Crm_CLrGaflur QaumCarer

Name the plant in which the stamens have 5 longer filaments and 5 shorter filaments.
(a) Clitoria ternatea

(b) Aeschynomene aspera

(c) Zornia diphylla

(d) Crotalaria verrucosa
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weNQsssGeudav eremm auflangulled oemerm GHDULD :
(1) LrOGaud (<) QareorCeand)
(8) BwGses (FF) uc_b:o(Burrr'rLﬁ]GUJé]

The family included under the series Unisexuales is:

(a) Malvaceae Solanaceae
(c) Musaceae (d) Euphorbiaceae

Saeueriiin) pepuiler epeLd QupuiL @éaa%luﬂ@urr@cﬁ :
(=) @plbow aranGLre@uid  (<B) Qeupens aflensEeT

(FF) L& fangaeane Litpib
one important product is formed :

(b) artificial synthetic seeds

(d) many seeded fruit

() worseT o &L &GS

By the application of tissue culture,
(a) triploid endosperm

(c) induction of flowers

“Lpaneusefler QaTTésOT” eramperpsaLbeugl -
(1) rreuGlerem oL srevsiflwaredlen

(=) Blupeor LImig eolwImgim

(@) QanalGsmaium Spleid

(r) QL AaAwr QredGer

“The bird of Paradise flower” refers to:

(a) Ravenala madagascariensis

(b) Musa Paradisiaca

(c) Heliconia Sp.

(d) Strelizia reginae

T edlenSHgIHEaT sMI9E@ IHDTEL LietuBSSemd ?

(1) PHenGlar (<) mevgav LFTGEeuemslen
(@) eroadiilem () Gameom Bl igLm

Which powdered seeds are used instead of coffee ?

(a) Ginseng ~ (b) llex Paraguriensis

(c) Ephedrine (d) Cola nitida

Atien spHEuflen Gurgl 2 Haun@b FADH, epa&ammisafian eTaRTeni&ans :

(1) pran® (<) 20 (@) @ren® () o0
The number of FADH, molecules during Kreb cycle is :
(a) Four (b) Six () Two (d) Eight
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24,

25.

26.

27.

aurev@GTT Cabidwh R

(=) ubs oé@sHs () pafl éEsHa
(&) uCrr@wav Lib () Qe wrsss He
Vascular Cambium is a :

(@) lateral meristem (b) apical meristem

(c) promeristem (d) intercalary meristem

QBevadled Gleuti) Grmenuw 2 HaurgEn Comuyuam :

(1) smECarGuremmen A () QerGaravGumyr QuirsCarLm
(&) smGyr amaie () eufl@Caflur @ayGs
Which pathogen causes the blast disease of rice ?

(a) Xanthomonas Citri (b) Cercospora Personata

()  Tungro Virus (d) Pyricularia Oryzae

WEiibs FhwmL s Gpruie srarliLLefldene.

(1) Bl seflwen (<1,) eveneod 2 Leoib
(@) CasGeame () englGLmAerrad
In matured sieve tube is absent.

(a) Nucleus (b)  Slime body

(c) Callose (d) Cytoplasm

6Thg euenas 1L @eritlmés euemsium@ arar SepssiiL@dng ?

(<) wryauflepery euamsiur® () dewupasipan euams LT

(@) @uhens Csire) wem (F) @Qubaspenn cuesE LT
Which of the following is called sexual system of classification ?

(a) Phylogenetic system (b) Artificial system

(c) Natural selection (d) Natural system

1 ereupauameupmeT eumty Hleapeullaeter amriGomer erg) ?

(1) y&8len (<) msamig.en (@) ersdladlen (F) Swmgen

Which of the following is a gaseous hormone ? |
(a) Auxin (b) Kinetin (c) Ethylene (d) Zeatin
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uss Geurser Dmbg Camenmdlenmer.
(=1) 285G (<) UpsGamed
(@) Qufienggdler () ymanfl
Lateral roots originate from the .

(@) Endodermis (b) Epidermis
(c) Pericycle (d) Cortex

&CrmGonGemd eramm Quwany MepsiiBSweur :

(1) ureQurafl (<) DAL g6 (@) SQerbldm () eureGLwr
The term chromosome was introduced by :

(a) Balbiani (b) Bridges (c) Flemming (d) Waldeyer

Qeevedllgerer RNA -6l mRNA -eilen jeme : ,
(=) 3-563eish (<) 10 - 20 s56is1D (§) 20 - 30 sgeisd () 5 - 10 5561510
mRNA is about of the RNA content of the cell.

(@) 3-5% () 10 - 20% (c) 20 -30% d) 5-10%

LS - 3, / SECTION - B

@y : semeuCugnip Llemanbgl clamEsEnsE aflen_wafGEa L. 15x3=45
Note : Answer any fifteen questions.

31.

32.

33.

34.

@mQempQuWA® epep erampre eranest ? T(HSHISSTL(H S(HS.

What is Binomial nomenclature ? Give an example.

Lrieéeileul LD eTempied ereen ? THSSISET(H S([HS.

What is epicalyx ? Give an example.

AenOmaflafluicy WETbESHTeT GTENDHTE) GTemen ?
What is Syngenesious Stamen ?

LTeSCaLoah eranpme eraen ? THSHSET(H SMHS.

What is Polygamous ? Give an example.



V6.

37.

38.

39.

40.

41.

42.

43.

44.

45.

Slovent Qadsar GTEDITE) Greyay ?

What are called companion cells ?

SCrmGurGsmb auemssaflar L i auarhg Urshamars GOL0E.
Draw the diagram and label the parts of types of chromosome.

GMECHHDLD eTenmTed Tamen 2
What is crossing over ?

LTy FRGsHSLD GTGUIMDITED GTEuTE P
What is genetic code ?

PDOSFN L (DB T Gresmes ?
What is splicing ?

SaNCFed Lrssdlen LILeTsEr wreamel ?

Write the uses of single cell protein.

peflFsHouresdH@n, Qe FauresdnEn eerer Coupumrbser wreaae ?
Write the differences between photorespiration and dark respiration.

gaf§Carsaasuilan U HELISS FOMUTL ML 6T(DSIE.
Write the overall equation of photosynthesis.

E)(meulq e LIGEISEISHISET crampmed crevam ?

What is dimorphic chloroplast ?

GeflLsaGSlen pen LiLiense wrenal ?
Write the three advantages of vernalization.

sTHHOMT SaurssHen seurs e (plyaldansg. STTETD Fafl)s.

The respiratory quotient for anaerobic respiration is infinity. Give reason.
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oy : ()  sremeuGumd 67(p STaTESEFEE e &

10

QBTHSS eremmmed Gremmen ?
What is fermentation ?

ST UMETE GTETDTe) Greven ?
What is sigmoid curve ?

Aéwrer ek elenera] erampra eramem ?
What is Richmond Lang effect ?

gnueids Csitey penp eremmmed eraenr ?
What is pure line selection ?

2 WAFLIQUITRET QsmeTenaT erammmey Grevme ?
What is Biopiracy ?

L@ - § / SECTION - C
(5. SieupHIET elle 6Tt

54 -8& SLLMULONS e wellEs CouaHILD.
(i) Cseneuwirer QL raisefled LULLD GUEOTS.
Note : i)  Answer any seven questions including question No. 54 which is compulsory.

51.

52.

53.

54.

55.

56.

(i) Draw diagram wherever necessary.

wryeul eueamsliL lymer 65leTsEs.
Explain the phylogenetic system of classification.

upenr oHmb Freudear sraurktseEnsE QoLGuwdrer Caunpur@samar

T (PSS,
Write the differences between Musa and Ravenala.

UL sSer <jqliuemL 9 R&EGS Sassmer sl ILHSS el

Explain the different types of meristems based on their positions.

Qmeisfons srar Caflar gnsE Qoul (s Cemhnsemsts LLD aamrHs)
urstisoars Gol. (Quilgrésiini m LGd)

Draw the transverse section of dicot root and label the parts

FTHMES L, maurssle - Caumun® sms.
Differentiate between sapwood and heartwood.

&GrrGurGsmbler el UL cemrks Lirsmk , : ;
MB1&6 ,
Draw the structure of chromosome and label thf %larts 6Té GMISHaLD

7x5=35
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57. yarefl Sidevg) gein et LrDpSess LHB GBI 6Tpsis.
Write notes on Point or Gene mutation. ‘ '

58. Qprdser Yenuiéd LGCrm CLrQerrs saflgbsssme elleufésayL.

Explain the enzymatic method of isolation of ‘protoplast.

59.  QuenGLrev LmevGuL. sz sdlan (psHusseusms QG IS

Write the significance of pentose phosphate pathWay. :

60.  C; wmmib Cy m@gguma@éﬁlmL‘_Gm 2 arem Geumumr(D&ET wWreney ?

What are the differences between C; and C, pathway ?

61. Csamifler seaursoref < lieney eamsEs.

Explain Ganong’s respiroscope experiment.

62.  MEgIuSHD BicTamUdiaeT LiHi fm GHILY euenys.

Write short notes on microbes in medicine.

L@&S - m / SECTION - D
GO : ()  eemeuGuenid e, cllamméseme@ el &ms. 4x10=40
(i) GCsemeuwrer @Liisafler LILb auenrs.
Note : ()  Answer any four questions.

(i) Draw diagrams wherever necessary.

63{.. GBS OO ADDEST STeur auSLILIT g 6n ensasHanen efoulsmayib.
 (eler&sid)
Discuss the outline of Bentham and Hooker's classification of plants. (Explanation)

64. Separ GLTAWN QLiGaraflurames semas Qerdsarmd efeuféseyw. weafld
euapuL b euamphgl, waflar eumilium igemen 6r(ps)s.
Describe the Clitoria ternatea in botanical terms. Draw the floral diagram and write
the floral formula. ' ‘

B . | | v . [ Slmliys / Turn over
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Quesdoas srar @mouddn e earampLamL aQeuf&sayLb.

Describe the internal structure of a dicot leaf.

DNA -eflern jenoliQener edaul.
Explain the structure of DNA.

DNA wmGsiéems Qsmfld f el Lnd @ ST uanys.
Write an essay on DNA recombinant technology.

Seversamadleav Hapedar LCain) Ly Ravasaar efleuflésay. (ellem&aid)

Describe the various steps involved in glycolysis. (Explanation)

<y senzer, glirellanser - eumpaliuied edenarayser LDD 6T(LSIS-
Write the physiological effects of auxins and gibberellins.

HessL e wHHILD LpaSulen QUIGETTET] WS WSS aEMSS CIEET
(SIS,

Write the economic importance of groundnut and cotton.

-00o0-



